OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (BER - BNREER)

®1—4 EERFER - EE5
1/ 1R=%)

s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 550" {142 4ng-TEQ/ %) BRI ko/TES SV
B 75
% - o
T K3 =5
i1 B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 m | @ B
W[EEFILFIRVEY ZILKVEROTD 0 1 1 of of of of o 1 0 1 0 0 0 0 of 1400 o 1400 1400
B (PILFILEDRFEN 1 00514 F
COLDRUVEDEEWICES, )
PZK] D O d S < 1 1 1 1 0 0 0 1 1 0 1 1.9 0 0 0 1.9 0.01 0 0.01 1.91
AB(AFIFT7HL YV 3 0 3 3 0 0 0 3 0 0 0 134 0 0 0 134 0 0 0 134
|t 4 2 5 4 0 0 0 4 2 0 2 134 0 0 0 134 1400 0 1400 1534

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER
1. BEH - BEVERIOERS (FEBR - /R - Il - AREER)
®1-4 WERFRG - EEH

1/ 1R=%)

s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 550" {142 4ng-TEQ/ %) BRI ko/TES SV
B 75
% - o
T K3 =5
i1 B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 m | @ B
1|FEEAD KA ILESY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
38 xFLFrToL Y il of il of o o if of o 120 0 0 0 120 0 0 0 120
A&t 1 0 2 1 0 0 0 1 0 0 120 0 0 0 120 0 0 0 120

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. HEH - BEERIOKET (EEE - ML)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
Hek -7
T K3 =1
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| #E B
K] D O f S < 2 2 2 2 0 0 0 2 2 0 2 2,44 0 0 0 2.44  0.089 0| 0.089 2.529
32257 — [N, N—EX (2—FEFILA*F 1 0 1 0 1 0 0 1 0 0 0 0 24 0 0 24 0 0 0 24
YIFN) 7I/] -2 — (2-70%
-4, 6=y=—tAT7z=NTY) -4’
XX TFEINTZUR
395|RYLA F Y ZHREEDKAME 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W07|RY (AFPIFLY) =FIFILIT—F 1 0 1 0 1 0 0 1 0 0 0 0 9% 0 0 9% 0 0 0 9%
W (PLFIVEOREHRN1 25515 F
TRLDRUVZDEEWICRD, )
MKRIALTILTER 1 0 1 1 1 0 0 2 0 0 0 580 24 0 0 604 0 0 0 604
ABIAFLVER (4, 1—Tzxz=LY) =Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1400 0 1400 1400
AYSTR=—h
&&t 5 3 7 3 3 0 0 6 3 0 3 580 144 0 0 724 1400 0 1400 2124

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (BER - A#f - KERBER)
®1-4 WERFRG - EEH

1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
i1
B K& Ejj%
T Tk =5
g WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
5 m | @ B
BlrFRVEY 1 0 1 1 0 0 0 1 0 0 1600 0 0 0 1600 0 0 0 1600
golxo Ly 1 0 1 1 0 0 0 1 0 0 7700 0 0 0 7700 0 0 0 7700
18| rooxsy (RaEEXFLY) o[ o] 2] 2 0 0 0 2| o] 0 83400 0 0 o| 83400 0 0 o| 83400
23|54 A ¥ %E 3 2 3 3 0 0 0 3 2 0 3.87 0 0 0 3.87| 0.06029 0] 0.06029| 3.93029
MR LTILFE R 1 1 1 1 0 0 0 1 1 0 5300 0 0 o| 5300 150 0 150 5450
mslxFLvER (4, 1—72=LY) = 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
LYY TER—b
|t 8 3 9 8 0 0 0 8 3 0 98000 0 0 0 98000 150 0 150 98150

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (BER - RE - RERBER)

®1—4 EERFER - EE5
1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
it
T K3 &5
nE WELT s | oo | en | ke | ok | tm | ma |as | 2 | & |2st]| x5 | 28F | tm | s | a2t | B®2 | Ko | a#
&S m| # KE BE
20| 2 F L v 1 1 1 1 0 0 0 1 1 0 1 3000 0 0 0 3000 14 0 14 3014
ﬁ% 1 1 1 1 0 0 0 1 1 0 1 3000 0 0 0 3000 14 0 14 3014

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER

1. e - BEPERIOEKE ((EBR - /LT -] - I TREER)
x®1-4 #HMEFRR - =EH
(1/17R=v)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
A
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg g | A | B8P | o | | aw (220 TR an |
B e
T 0 1 1 0 0 0 0 1 0 1 0 0 0 260 0 260 260
475 ) LEBERUZEDKAMKE 0 1 1 0 0 0 0 1 0 1 0 0 0 520 0 520 520
BlrFRVEY 1 1 1 1 0 0 1 1 0 1 340 0 340 160 0 160 500
T|Eib s — 5% 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
|F LYV 2 1 2 2 0 0 2 1 0 1 609 0 609 260 0 260 869
87[/ O ARV =flY A LLEY 0 1 1 0 0 0 0 1 0 1 0 0 0 3 0 3 3
127|177 a0RIL A 1 0 1 1 0 0 2 0 0 0 1400 380 1780 0 0 0 1780
2102, 2—UTOE—2-v T/ FPENTS 2 2 2 0 0 0 2 2 0 2 0 4090 4090 18 0 18 4108
240 7|:9'- Ly 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
23|54 A X 4 1 5 3 0 0 4 1 0 1| 140.213 0.38 140.593 0.014 0 0.014| 140.607
2961, 2, 4—RNYXFIANVEY 1 0 1 1 0 0 1 0 0 0 56 0 56 0 0 0 56
300| ML 3 1 3 3 0 0 3 1 0 1 36100 0 36100 14000 0 14000 50100
308|=w )L 0 1 1 0 0 0 0 1 0 1 0 0 0 3 0 3 3
38| =FRMbiRE 1 1 1 1 0 0 2 1 0 1 49000 2400 51400 160 0 160 51560
3495 J—)L 1 1 1 1 0 0 1 1 0 1 48 0 48 900 0 900 948
32| J <=~ H Y 1 0 1 1 0 0 1 0 0 0 5300 0 5300 0 0 0 5300
27Ky (FFLITFLY) =FAELTI—F 1 1 1 0 0 0 1 1 0 1 0 61 61 20 0 20 81
W (ZIFVEORFLAN1 20515 F
TRHLDRUVZDEEWICIRD, )
Mk a7Lse K 2 2 2 2 0 0 2 2 0 2 224 0 224 205 0 205 429
420\ x5 5 JLEE A F )L 0 1 1 0 0 0 0 1 0 1 0 0 0 590 0 590 590
38| X FILFTHL Y 6 0 6 6 0 0 6 0 0 0 27 0 271 0 0 0 27
=0 26 16 35 22 0 0 28 16 0 16 93348 6931 100279 17099 0 17099 117378

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER
B - BEVERIOEKE (BBR - E2IXH)

®1—-4 EEFER - F*iE5
(1 /) 4=—3)

stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v
B -7
" X a5
T 7 =a
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e

= £/ B e
@EDKAEMEEY 2 2 3 0 2 0 0 2 2 0 2 0 190 0 0 190 8200 0 8200 8390
672 Y LEE2 — ROFSTFI 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 450 0 450 450
ol7rym=ry 1 0 1 1 0 0 0 1 0 0 0 18 0 0 0 18 0 0 0 18
Blrer=ry 3 8 8 3 0 0 0 3 8 0 8 435 0 0 0 435 62100 o| 62100 62535
6|2, 2 —FPYERAVTFO=-rYIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Wo—FI)TH I —) 3 2 3 1 2 0 0 3 2 0 2 1 4 0 0 4 86 0 86 90
0|EE TN FINRVEY A VER ‘%o) 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 933 0 933 933

B (PLFIVEORFEHAN10H514F

TDLDRUVZDEEWICIRS, )
37 v FEVROZDIEEY 1 2 2 0 1 0 0 1 2 0 2 0 7 0 0 7 68 0 68 75
43—V TFIAFI—3, 5, 5—h 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

DAXAFNLN AT =AY TR—b
1V FLY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 72 0 72 72
3[4, 47 —qyvFOKYFYY T/ —I 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

(B&EERT7 T/ —)VA)

BlrFi~cvEy 2 3 3 2 0 0 0 2 3 0 3 98 0 0 0 98 8825 0 8825 8923
selrFLvAE R 1 0 2 1 0 0 0 1 0 0 0 830 0 0 0 830 0 0 0 830
MNlrFLYUFI Y 1 0 1 1 0 0 0 1 0 0 0 7 0 0 0 7 0 0 0 7
63)1, 1’ IFLv—2, 27 —EEYY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

Z7L= STOIF (BEYs7 o700

IRXIFTITY M)

5lcrsooe RY Y 2 2 2 2 0 0 0 2 2 0 2 1 0 0 0 1| 10400 o 10400 10401
7[Ep s — s 1 1 2 0 1 0 0 1 1 0 1 0 3 0 0 3 8 0 8 1
13124 ,—) 1 1 2 1 0 0 0 1 1 0 1 3 0 0 0 3 55 0 55 58
8|F LY 3 4 4 3 0 0 0 3 4 0 4 469 0 0 0 469 9140 0 9140 9609
2[R R U KBS Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
84l y A x4— 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
L AV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
B - BEVERIOEKE (BBR - E2IXH)

®1—-4 EEFER - F*iE5
(2 /) 4=—3)

REL RS EHTH) HEH 2 () BRI H() SR (ko/ 29" 4449V idng- TEQ/ ) BHE e/ IR
B - %
% X o
T Y =K
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
= L) & ®BH
214 —--00—-3—ITFIL—1—XFIJL—N 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 160 0 160 160

—[4— (RS MYLFFY) RUIIL]

ESYV—IL—5—-RhIKRFHI N (Bl& K

V7T VESR)
12717 0AKRIL A 2 2 3 2 1 0 0 3 2 0 2 4600 22 0 0 4622 70110 0 70110 74732
128|004 % Y (BlEEIEXFIL) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 28 0 28 28
132(3/%0 N RUOFDILEY 1 0 2 0 1 0 0 1 0 0 0 0 26 0 0 26 0 0 0 26
54| AOnFIILT IV 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
15711, 2—-y4sO00xT4d Y 2 2 2 2 1 0 0 3 2 0 2 740 7 0 0 747 29000 0 29000 29747
186|sOnOx4yy (BEEIEXAFLY) 4 4 4 4 1 0 0 5 4 0 4 9895 24 0 0 9919 146000 0| 146000| 155919
19|y oaRyyITI Ty 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 3000 0 3000 3000
213N, N=SAFIT7EMNFIR 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 4900 0 4900 4900
21|12, 2= XFJ—2, 3—-YeRkO-1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

—NUYTISY =T —4)L=N— [N— (

2—ThFTVHAINRZIITFI) —N—41
VF7OEINRI T TFEAIN] —N—XF
WANNRT—K BBV TZHIT)

227(1, 17 = AFI—4, 4’ -y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=wa=v50)F (B850 —FXid
NZd—hk¥o0OYK)

232|N, N=U A FJKRILALATIR 2 3 4 2 0 0 0 2 3 0 3 281 0 0 0 281 9350 0 9350 9631
234|mx% 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
235| B RERDKAME 1 1 1 0 1 0 0 1 1 0 1 0 0 0 0 0 32 0 32 32
23|54 %> V8 6 4 8 5 3 0 0 8 4 0 4 8.85| 0.000107 0 0| 8.850107( 67.0023 0| 67.002375.852407
57|F LTI a—I (BIEFH /S —I) 1 1 2 1 0 0 0 1 1 0 1 1 0 0 0 1 580 0 580 581
20|51 7 9 LBk 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 2960 0 2960 2960
MFL 7B AFIL 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 2490 0 2490 2490
2BAAME (BEEARRC, ) 1 1 2 0 1 0 0 1 1 0 1 0 1 0 0 1 7 0 7 8

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEERIDOEE (BBR - L2IF)
x®1-4 #HMEFRR - =EH
(3 / 4R—=Y)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
Hits- 15
B K& Ejj%
T K3 AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 | ® BE

Bl —rEFH =L RIZ/LTIL— RFY 1 0 1 1 0 0 0 1 0 0 0 1 0 1 0 0 1

LTI —IL)
75| RFYILEEEEF R Y ™ A 0 1 1 0 0 0 0 0 1 0 1 0 0 0 19 19 19
a7,y T FLTIY 1 1 1 1 0 0 0 1 1 0 1 100 0 100 2600 2600 2700
296|1, 2, 4—KNYXFIRVEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2971, 3, 5—RMNUYAXFIRVEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R NI DS 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
300 ML 3 5 6 3 0 0 0 3 5 0 5 345 0 345 66050 66050 66395
02074 L Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
307 IR L= A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
308(=w L 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
30— rILbEY 0 1 2 0 0 0 0 0 1 0 1 0 0 0 880 880 880
REE] | NP 2 2 2 2 0 0 0 2 2 0 2 76 0 76 22500 22500 22576
33B|N— (44— ROFLTT=)) FENT 1 2 2 0 1 0 0 1 2 0 2 0 13 13 1290 1290 1303

IR
36l rFOF/ v 0 1 1 0 0 0 0 0 1 0 1 0 0 0 760 760 760
Mgl =L vy 2 1 2 0 2 0 0 2 1 0 1 0 3 3 5 5 8
39|77/ —)L 1 1 1 1 0 0 0 1 1 0 1 52 0 52 13000 13000 13052
3R/ e —AFHY 4 3 4 4 0 0 0 4 3 0 3 2576 0 2576 7672 7672| 10248
395~ LA £V —EEEO KRS 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
98[~xvUL=s0U K (RIBELRIIL) of [l o] o] o[ o o i o 0 0 0 5 5 5
20111, 2, 4—~RYEYNYAILKRVEET, 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0

2 — kY
405|1F 5 =S 3 3 4 1 3 0 0 4 3 0 3 1 236 237 1428 1428 1665
07|18 (AFIFLY) =7ILFILI—F 2 3 3 0 2 0 0 2 3 0 3 0 7 7 244 244 251

W (TIVFIVEDRFEN1 20515 F

TRHLDRUVZDEEWICIRD, )

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER

1. e - BEPERIDEES (BBR - EFIH)
x1 -4 #HEFREH - %EEH
(4 / 4R—=%)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BIE Ko/ T v
i1
B K& Eij%
T KA =1
g M gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
5 m | @ B
410|RY (AFSTFLY) =/ Tt 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
I—7J)
MKRILTILTER 3 2 3 3 0 0 0 3 2 2 3 0 3 1140 0 1140 1143
12| v HY ROZDILEY 3 3 4 0 3 0 0 3 3 3 0 373 373 8040 0 8040 8413
A3|EK T Y ILEE 0 2 2 0 0 0 0 0 2 2 0 0 0 2217 0 2217 2217
sk LA VER 0 1 1 0 0 0 0 0 1 1 0 0 0 20 0 20 20
45| X 45 0 Y )LER 1 1 2 1 0 0 0 1 1 1 16 0 16 1 0 1 17
A6IAZ VY IEE2 — T FILAFUI 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
aslx s oy LEE2 — (UAFLFTIJ) TF 0 1 1 0 0 0 0 0 1 1 0 0 0 9 0 90 90
W
29X HH Y LB I —TFI 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20| X5 5 JLEE A FIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
426|N— X FILALNRIVEE2, 3—SE RO 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
—2, 2—IXFN=T -~V [b] 7
Z2) BIBRANKT S V)
88X FFoH LY 2 1 4 2 0 0 0 2 1 1 278 0 278 16 0 16 294
MIXFLYER (4, 1—=voO~FYLY 1 0 1 1 0 0 0 1 0 0 5 0 5 0 0 0 5
) =VAVITER—b
WBIXFLVER (4, 1—-T1=LY) =¥ 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AVITR—b
B2 — A HTRRYIFTI—) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=0 73 91 155 53 26 0 0 79 91 91 20832 916 21748 496931 0 496931 518679

HHEE : THRI0EE




ORHHHERUBHEDOTRIEEMEREETER
1. B - BIEHDOEEST (EER - AhES - AkEREEXE)
£1—-4 FEFER - £33
(1 /1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
b7
T K3 =
nE WEE s | oo | en | ke | ok | tm | ma |as | 2 | & |2st]| x5 | 28F | tm | s | a2t | B®2 | Ko | a#
48X FILFTILY s ol o s of of of 6] o of o 100 0 0 0 100 0 0 0 100
ﬁé-l- 6 0 6 6 0 0 0 6 0 0 0 100 0 0 0 100 0 0 0 100

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIOSRE (BBR - 7S5XAFv I HRBIER)
®1-4 WERFRG - EEH

1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
o
e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7
m | B

v FEYROCZOIEEY 0 1 1 0 0 0 0 0 1 0 0 0 96 0 9% 9%
80| LYV 1 1 1 1 0 0 0 1 1 0 60 60 200 0 200 260
232N, N=UXFIKRILLT IR 1 1 1 1 0 0 0 1 1 0 9500 9500 4900 0 a900] 14400
20| 2 F L v 1 1 1 1 0 0 0 1 1 0 950 950 200 0 200 1150
30| ML 4 3 4 4 0 0 0 4 3 0 25700 25700 14190 0 14190 39890
5[ 4 LEEE R (2 —TFIAFII) 1 1 1 1 0 0 0 1 1 0 300 300 6400 0 6400 6700
BB XFINFTHLY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
55t 8 8 10 8 0 0 0 8 8 0 36510 36510 25986 0 25986 62496

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIOSRSE (BBR - JLoRHARESR)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

e

i B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg an | xm [ 5P| s | mx | am | E®D E;%ﬁ aar | O

p=3

|F LYV 1 1 1 1 0 0 0 1 1 0 1 1100 0 0 0 1100 16 0 16 1116
300 ML Y 1 1 1 1 0 0 0 1 1 0 1 4800 0 0 0 4800 72 0 72 4872
5[ S LBER (2 —TFIAFII) 1 1 1 1 1 0 0 2 1 0 1 68 2 0 0 70 1700 0 1700 1770
55t 3 3 3 3 1 0 0 4 3 0 3 5968 2 0 0 5970 1788 0 1788 7758

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOSKE (BBR - B - TARBEER)

®1—4 EERFER - EE5
1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
i1
5 - o
T Tk =5
i1 B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 m | @ B

00| ML 1 0 1 1 0 0 0 1 0 0 0 20000 0 0 0 20000 0 0 0 20000
405|1F 5 =S 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1000 0 1000 1000
A&t 1 1 2 1 0 0 0 1 1 0 1 20000 0 0 0 20000 1000 0 1000 21000

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEVERIDEE

(ESR - ZK=x)

x®1-4 #HEFER - FEH

1/ 1R=%)

eI BEFETB () Bt M (1) BEIEH (1) it B (ko/4F 4" 4145788 dng-TEQ/ ) BRI ko/TES SV
aa%d;
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg g | A | B8P | o | | aw (220 TR an |
B e
ES DAL EY 1 0 1 0 0 0 1 0 0 0 4 0 0 4 0 0 4
80|1x L v 1 1 1 1 0 0 1 1 0 34 0 0 0 34 170 170 204
132|310 N RUFDIEEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2961, 2, 4—RMNUYXFILRVEY 1 1 1 1 0 0 1 1 0 35 0 0 0 35 190 190 225
307|ZigkER b IILa =T A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
308|1=v 7L 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
395 LA % Y —RRERD AR ML 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
405|1F 5 =S 1 0 1 1 0 0 2 0 0 100 15000 0 0 15100 0 0 15100
M\ VARV FDILLEY 1 0 1 1 0 0 2 0 0 610 2500 0 0 3110 0 0 3110
4BIXFIVF 79 LV 1 0 1 1 0 0 1 0 0 35 0 0 0 35 0 0 35
A&t 6 2 10 5 0 0 8 2 0 814 17504 0 0 18318 360 360 18678

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEERIORE (REBR - ERRMEER)
x®1-4 #HMEFRR - =EH
(1/17R=v)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
Hits- 15
B K& Ejj%
T K3 AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 | ® BE
BlrFRVEY 1 0 1 1 0 0 0 1 0 0 2900 0 0 0 2900 0 0 0 2900
T|Eib s — 5% 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
|F LYV 1 0 1 1 0 0 0 1 0 0 5500 0 0 0 5500 0 0 0 5500
828R R U7 DACGEMEAL B Y of o 1 of of o of of of o 0 0 0 0 0 0 0 0 0
144|EM s 7 bYW BIERUVY 7 VEEIEA 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R<o )
18elrvoOxyy (BAEIAFLY) 1 1 1 1 0 0 0 1 1 0 6800 0 0 0 6800 4700 0 4700 11500
21| YOO FL Y 1 1 1 1 0 0 0 1 1 0 2200 0 0 0 2200 9400 0 9400 11600
300| ML 2 0 2 2 0 0 0 2 0 0 8200 0 0 0 8200 0 0 0 8200
308|=w &)L 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3841 —goEFONSY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WBIAFLVYER (4, 1—7zx=ZLY) =Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1YY TR—b
=0 6 2 12 6 0 0 0 6 2 0 25600 0 0 0 25600 14100 0 14100 39700

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER
HEH - BENERIDEKE (BER - —REMWMSRRERER)

®1—4 EERFER - EE5
1/ 1R=%)

SELL BEFRAB () HELH 18 (1) ) YR (ko/4F ;5" (1493 dng-TEQ/ ) BRI ko/TES SV
B - %
5 X o
T 7 =a
g M gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
= L] E %
80|F> LYV 2 0 2 2 0 0 0 2 0 0 0 6700 0 0 0 6700 0 0 0 6700
185 ~>/7|:||:|/\/9 JAo7o/sy (B&H 1 0 1 1 0 0 0 1 0 0 0 1800 0 0 0 1800 0 0 0 1800
CFC—225)
2961, 2, 4—KUAXAFIRVEY 1 0 1 1 0 0 0 1 0 0 0 6400 0 0 0 6400 0 0 0 6400
300[h LT Y 1 0 1 1 0 0 0 1 0 0 0 1500 0 0 0 1500 0 0 0 1500
38411 —JoESO/NY 1 0 1 1 0 0 0 1 0 0 0 17000 0 0 0 17000 0 0 0 17000
&=t 6 0 6 6 0 0 0 6 0 0 0 33400 0 0 0 33400 0 0 0 33400

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER
EHMa ERER)

1. B - BEVERIDEE

(BER -

x®1-4 #HEFER - FEH

1/ 1R=%)

RUME

REREMB ()

B8 (1)

BapE (1)

Be & (kg/ 8 57 1449V $81Emg-TEQ/ )

BEE (kg/E; 5 (HIVEIE

mg-TEQ/4F)
P75
B T TkiE i?%
e B £ mu | e |2 | m | o | om e | wa | | ok few | am | S8R | em | omw | ew | BFR co | e
p=3

wWo—7zT89— : 1 1 1 of o] o 1| o 1] 2r00 0 2100] 38000 o| ss000] 40100
Blrri~vry i 1 1 1 of o o T R 37 0 37 50 0 50 87
I ESAW 1 1 1 1 0 0 0 1 1 0 1 28 0 28 280 0 280 308
1323/ NRUOFDIEEY 2 2 2 1 1 0 0 2 2 1 3 3 140 143 14003 2 14005 14148
23|54 FF o V4R 1 1 2 1 0 0 0 1 1 0 1 0.3 0 0.3 0.022 o] 0.022[ 0322
308|= v 4 )L i 1 1 1 of o of [ o] 1 1 1 0 i 0 2 2 3
309|= v b’}bﬂ:é#@ 2 2 2 1 1 0 0 2 2 0 2 3 410 413 41000 0 41000 41414
743 2 {EKFTER VT ZF DIKAMLE 3 2 3 2 2 0 0 4 2 0 2 34 416 450 5370 0 5370 5820
32| S e —~FH 7 | O O ) O ) ) R 0 13000 580 0 580| 13580
40513 > =L aw 1 B 0 2 2 460 0 460 462
M\ VARV FDILLEY 2 2 2 1 1 0 0 2 2 1 3 3 190 193 21000 2 21002 21195
a8 xFLFo8L > i R K of o of [ o o o 6 0 6 0 0 0 6
/S*E-I- 18 15 21 13 6 0 0 19 14 3 17 15215 1158 16373 120744 6 120750 137123

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (BER - S AR ERER)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
oy
i B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg an | xm [ 5P| s | mx | am | E®D E;%ﬁ aar | O
p=3

BlrFiAvEY 1 1 1 1 0 0 0 1 1 0 1 6400 0 0 0 6400 340 0 340 6740
80|F Ly 1 1 1 1 0 0 0 1 1 0 1 11000 0 0 0 11000 570 0 570 11570
300 ~MJLT Y 1 1 1 1 0 0 0 1 1 0 1 2200 0 0 0 2200 110 0 110 2310
55t 3 3 3 3 0 0 0 3 3 0 3 19600 0 0 0 19600 1020 0 1020 20620

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOSKE (BER - TOMmORIER)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

e

i B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg an | xm [ 5P| s | mx | am | E®D E;%ﬁ aar | O

p=3

BlrFRVEY 1 0 1 1 0 0 0 1 0 0 0 110 0 0 0 110 0 0 0 110
|l LYy 1 0 1 1 0 0 0 1 0 0 0 76 0 0 0 76 0 0 0 76
00| pM)L Y 1 0 1 1 0 0 0 1 0 0 0 4100 0 0 0 4100 0 0 0 4100
55t 3 0 3 3 0 0 0 3 0 0 0 4286 0 0 0 4286 0 0 0 4286

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (BER - EXX)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
A
e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7
| ® BE

B|AKE 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1200 0 1200 1200
|l LYy 1 0 1 1 0 0 0 1 0 0 0 650 0 0 0 650 0 0 0 650
2B ¥ UHE 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
296|1, 2, 4— FNYXAFIRVEY 1 0 1 1 0 0 0 1 0 0 0 290 0 0 0 290 0 0 0 290
30| ML 2 0 2 2 0 0 0 2 0 0 0 6100 0 0 0 6100 0 0 0 6100
333k kSUY 1 0 1 1 1 0 0 2 0 0 0 1 26 0 0 27 0 0 0 27
A&t 5 1 7 5 1 0 0 6 1 0 1 7041 26 0 0 7067 1200 0 1200 8267

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. e - BEERIOERET (EEE - TKER)

®1—4 EERFER - EE5
1/ 2R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
Hits- 15
B K& Eij%
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 | ® BE
1@ DK AL E Y i2[ o] w3l o] a2f o] o i2f o] o] e 0 871 0 0 871 0 0 0 871
slo—TF)IL=0—-4—=—rOTz=)=7 3 o 13 0 3 0 0 3 0 0 0 0 40 0 0 40 0 0 0 40
INKRAR/FAT—b (BIBLBEPN)
75|h RIH ARVCZDILESY 6 o] 13 0 6 0 0 6 0 0 0 0 3 0 0 3 0 0 0 3
87[/ O ARV =l A LLEY 6 ol 13 0 6 0 0 6 0 0 0 0 il 0 0 1 0 0 0 1
88|75 O b &1 6 0 13 0 6 0 0 6 0 0 0 0 23 0 0 23 0 0 0 23
m|2—s00—-4, 6—EX (ZFILT7ZI/ 5 of 13 0 5 0 0 5 0 0 0 0 2 0 0 2 0 0 0 2
) =1, 3, 5-hUTFIY BEITY
YRIECAT)
144|mie s 7 LS BEEROS 7 VEREE 6 of 13 0 6 0 0 6 0 0 0 0 57 0 0 57 0 0 0 57
IR<o
147|N, N—=STFILFFHINIVEES —4 6 o] 13 0 6 0 0 6 0 0 0 0 9 0 0 9 0 0 0 9
—ooany Il (REZFANYAILTX
BV FAH—T)
149|miE{b k= 4 0 13 0 4 0 0 4 0 0 0 0 1 0 0 1 0 0 0 1
15011, 4 -y AxH> 6 0 13 0 6 0 0 6 0 0 0 0 3 0 0 3 0 0 0 3
15711, 2—voonTdy 4 of 13 0 4 0 0 4 0 0 0 0 2 0 0 2 0 0 0 2
158(1, 1—vosonTFLy (RaEEE= 6 ol 13 0 6 0 0 6 0 0 0 0 9 0 0 9 0 0 0 9
UTv)
159> 2—1, 2—UsO0TFL Y 6 ol 13 0 6 0 0 6 0 0 0 0 19 0 0 19 0 0 0 19
179(1, 3—-vsnn7Oo~xy (B1&D—-D) al ol 13| o 4 o] o 4 o o e 0 1 0 0 1 0 0 0 1
186 ronx4y (RLEIEAFLY) 6 ol 13 0 6 0 0 6 0 0 0 0 9 0 0 9 0 0 0 9
B7[KERUZ DAY ol ol i3] ol 2| of of 2f o o 0 0 0 0 0 0 0 0 0 0
22|12 L Y RUZDILAY 6 of 13 0 6 0 0 6 0 0 0 0 5 0 0 5 0 0 0 5
23|54 A XS 1 0 1 0 1 0 0 1 0 0 0 0| 0.00053 0 0| 0.00053 0 0 0| 0.00053
02|5 hSH/OATFL Y 5 ol 13 0 5 0 0 5 0 0 0 0 5 0 0 5 0 0 0 5
2687 hSAFLFISLUALT 4 K @&] | of [ o o[ of o] 6 o of o 0 3 0 0 3 0 0 0 3
FUSLREF S L)
2|8AKAME (BE1EARRL ., ) 8 ol 13 0 8 0 0 8 0 0 0 0 76 0 0 76 0 0 0 76

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. e - BEERIOERET (EEE - TKER)

®1—4 EERFER - EE5
(2 / 2R—%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

ﬁ%g

e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7

w | B

21911, 1, 1=KNYysonoxT4d>v 5 0 13 0 5 0 0 5 0 0 0 0 136 0 0 136 0 0 0 136
220[1, 1, 2—rysOOzTdy 5 ol 13 0 5 0 0 5 0 0 0 0 3 0 0 3 0 0 0 3
281 YOO xTFL Y 6 0 13 0 6 0 0 6 0 0 0 0 6 0 0 6 0 0 0 6
305[581E 29 sl of 3] of 6 of of 6] o of o 0 5 0 0 5 0 0 0 5
3R|MER VT DERILSY 6 of 13 0 6 0 0 6 0 0 0 0 5 0 0 5 0 0 0 5
374[ 5 o bk ER O E DKRMLE 8] o 3 of 8 of of 8 of of o of 3400 0 of 3400 0 0 of 3400
400(~v ¥y 6 o] 13 0 6 0 0 6 0 0 0 0 5 0 0 5 0 0 0 5
405|1F 5 =S 12 0 13 0 12 0 0 12 0 0 0 0 6249 0 0 6249 0 0 0 6249
a06|KytEE T =) (RIZPCB) o ol w3l o] 2l o] o] 2] o o] o 0 0 0 0 0 0 0 0 0
M7V HY RVZEDILEY 12 of 13 of 12 0 of 12 0 0 0 0 5290 0 0 5290 0 0 0 5290
A&t 182 0 391 0 182 0 0 182 0 0 0 0 16248 0 0 16248 0 0 0 16248

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. HEH - BEERIDOEKE (EEER - BHEESR)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

e

e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7

w | H o

BlrFRVEY 2 0 2 2 0 0 0 2 0 0 0 104 0 0 0 104 0 0 0 104
o[+ LY 2 0 2 2 0 0 0 2 0 0 0 400 0 0 0 400 0 0 0 400
296(1, 2, 4—RNYXFIRVEY 2 0 2 2 0 0 0 2 0 0 0 97 0 0 0 97 0 0 0 97
297|11, 3, 5= RNUXFIRVEY 2 0 2 2 0 0 0 2 0 0 0 6 0 0 0 6 0 0 0 6
30| ML 2 0 2 2 0 0 0 2 0 0 0 3400 0 0 0 3400 0 0 0 3400
32|/ LTI —AFHY 2 0 2 2 0 0 0 2 0 0 0 6200 0 0 0 6200 0 0 0 6200
400IRVE Y 2 0 2 2 0 0 0 2 0 0 0 610 0 0 0 610 0 0 0 610
438X FILFTHL Y 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
&5t [ o] 18] 14l ol o o] sl o] o] o 1017 0 0 of 10817 0 0 of 10817

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (EER - MENER)

®1—4 EERFER - EE5
1/ 1R=%)

REL RS EHTH) HEH 2 () BRI H() SR (ko/ 29" 4449V idng- TEQ/ ) BHE e/ IR
ﬁ%g
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg it | xm |88 | wm | me | an [BER | T aw |
B e

BlIZFILRVEY 99 0 99 99 0 0 0 99 0 0 0 133 0 0 0 133 0 0 0 133
|l LYy 108 o] 18] 108 0 0 0| 108 0 0 0 549 0 0 0 549 0 0 0 549
296|1, 2, 4— KNYXAFIRVEY 105 of n7[ 10 0 0 of 1o 0 0 0 135 0 0 0 135 0 0 0 135
297(1, 3, B=KNUXFIRVEY 36 0 64 36 0 0 0 36 0 0 0 4 0 0 0 4 0 0 0 4
30| ML 107 0 107 107 0 0 0 107 0 0 0 4081 0 0 0 4081 0 0 0 4081
32|/ eI —~FH Y 104 of 104] 104 0 0 of 104 0 0 0 9603 0 0 0 9603 0 0 0 9603
400XVt 101 0 101 101 0 0 0 101 0 0 0 933 0 0 0 933 0 0 0 933
BB xFFoHL Y 0 0 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A&t 660 0 719 660 0 0 0 660 0 0 0 15437 0 0 0 15437 0 0 0 15437

PRHFE « TRS0FE



ORHHHERUBHEDOTRIEEMEREETER
1. HEH - BEERIDOEET (EBER - hEx)
£1—-4 FEFER - £33
(1 /1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
b7
T K3 =
nE WEE s | oo | en | ke | ok | tm | ma |as | 2 | & |2st]| x5 | 28F | tm | s | a2t | B®2 | Ko | a#
438X FLFooL Y 1 of 1 of o] o of of o 65 0 0 0 65 0 0 0 65
ﬁé-l- 1 0 1 1 0 0 0 1 0 0 0 65 0 0 0 65 0 0 0 65

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIOKE (BBR - —MEZEMLER (THLDKICIRS. ) )
x®1-4 #HEFER - FEH
(1/2R=Y)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
B | T Tkl 2
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B
T 8| ol 15| o & of of 8 0 0 0 31 31 0 0 0 31
Blo—TF)I=0—4—=—rOTz=)L=7 8 1| 6]  of & o o 8 1 1 0 28 28 0 0 0 28
IZIWVHRRK/FAT— b (BIBEPN)
75|h RIH ARVCZDILESY 3 o] 16 0 3 0 0 3 0 0 0 1 1 0 0 0 1
87[/ O ARV =l A LLEY 7 ol 15 0 7 0 0 7 0 0 0 8 8 0 0 0 8
88|5ff & O L L&Y 8 1| 6]  of & o] o @ 1 1 0 1 1 0 0 0 1
m|2—s00—-4, 6—EX (ZFILT7ZI/ 3 of 15 0 3 0 0 3 0 0 0 1 1 0 0 0 1
) =1, 3, 5-hUTFIY BIBITY
YRIFCAT)
144|mie s 7 LS BEEROS 7 VEREE 8 i 16 0 8 0 0 8 1 1 0 28 28 0 0 0 28
BR<o )
147|N, N—=STFILFFHINIVEES —4 7 o] 15 0 7 0 0 7 0 0 0 4 4 0 0 0 4
—ooany Il (REZFANYAILTX
ERYFFH—T)
149|miE{b k= 3 0 15 0 3 0 0 3 0 0 0 1 1 0 0 0 1
15011, 4 -y AxH> 7 0 16 0 7 0 0 7 0 0 0 10 10 0 0 0 10
15711, 2—voonTdy 3 of 15 0 3 0 0 3 0 0 0 1 1 0 0 0 1
1581, 1—vsoATFL Yy (AGELLE= 7 ol 15 0 7 0 0 7 0 0 0 20 20 0 0 0 20
UTv)
159lv2—1, 2—vsO0TFLY 7 ol 15 0 7 0 0 7 0 0 0 ¥ 1 0 0 0 ¥
179(1, 3—vsnn7aRy (B4&D—D) sl o] 15| of 3 o o 3[ e 0 0 1 1 0 0 0 1
186lUsnnx sy (ABEEAFLY) I 0 0 6 6 0 0 0 6
B7[KERUZ DAY 1 of 16 1 of o] o 1 0 0 0 0 0 0 0 0 0
22|12 L Y RUZDILAY 6 o 16 0 6 0 0 6 0 0 0 3 3 0 0 0 3
24 i DL 30 13 30 16 15 0 0 31 13 13| 347.927|0. 0020951 347.92909118073. 202 0]18073.202| 18421.131
Rt 8 518 7 7| 79518
202|> hS4oOATFLY 6 o| 16 0 6 0 0 6 0 0 0 3 3 0 0 0 3
268[7 kS AFLFISLTALT 4K B&| 4 o] [ o [ o o] 4 o 0 0 2 2 0 0 0 2
FOSLREFS L)
o2lsEskiatE (GEEARC, ) 6 o 15 0 6 0 0 6 0 0 0 " " 0 0 0 "

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (BER - —MERMUER (THLDEICRD, ) )

®1—4 EERFER - EE5
(2 / 2R—%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
e
e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7
w | H o

2719(1, 1, 1—hYsOOxTHdY 8 ol 15 0 8 0 0 8 0 0 0 0 79 0 0 79 0 0 0 79
220[1, 1, 2—rysOOzTdy 4 ol 15 0 4 0 0 4 0 0 0 0 2 0 0 2 0 0 0
2B[rysooTFLY o] ol 6] o 6 of of 6] of of o 0 4 0 0 4 0 0 0
30558124 o of 6] of 6 of of 6 o of o 0 3 0 0 3 0 0 0
R ERUEFDEEIEESY 6 i 6 0 6 0 0 6 1 0 1 0 3 0 0 3 0 0 0

374 3 o (L KB R U Z DKRMELE Bl of 5] o] asf o of 3 o o o 0 120 0 0 120 0 0 0 120
400IRVE Y 6 0 15 0 6 0 0 6 0 0 0 0 3 0 0 3 0 0 0

405|1F 5 =S 14 0 15 0 14 0 0 14 0 0 0 0 389 0 0 389 0 0 0 389
a06|KytEE T =) (RIZPCB) 0 of 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

M7V HY RVZEDILEY 6 of 15 0 6 0 0 6 0 0 0 0 14 0 0 14 0 0 0 14

A&t 21 17 492 17 195 0 0 212 17 0 17 0 794 0 0 794 0 0 0 795

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (BER - EXEEVMULX (RIEEEXREEVMLIZ 20, ) )

®1—4 EERFER - EE5
1/ 2R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B
T 1 0 1 0 1 of o 1 of o] o 0 2 0 0 2 0 0 0 2
slo—TF)IL=0—-4—=—rOTz=)=7 1 0 1 0 1 0 0 1 0 0 0 0 9 0 0 9 0 0 0 9
IZIWVHRRK/FAT— b (BIBEPN)
75|41 K3 Y ARCZDIEEAY 1 0 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
87[/ O ARV =l A LLEY 1 0 1 0 1 0 0 1 0 0 0 0 2 0 0 2 0 0 0 2
88|5ff & O L L&Y 1 0 1 0 1 of o 1 of o] o 0 4 0 0 4 0 0 0 4
m|2—s00—-4, 6—EX (ZFILT7ZI/ 1 0 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
) =1, 3, 5-hUTFIY BIBITY
YRIFCAT)
144|mie s 7 LS BEEROS 7 VEREE 1 0 1 0 1 0 0 1 0 0 0 0 9 0 0 9 0 0 0 9
<
147|N, N—=STFILFFHINIVEES —4 1 0 1 0 1 0 0 1 0 0 0 0 2 0 0 2 0 0 0 2
—ooany Il (REZFANYAILTX
ERYFFH—T)
149|miE{b k= 1 0 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
15011, 4 -y AxH> 1 0 1 0 1 0 0 1 0 0 0 0 4 0 0 4 0 0 0 4
15711, 2—voonTdy 1 0 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
1581, 1—vsoATFL Yy (AGELLE= 1 0 1 0 1 0 0 1 0 0 0 0 9 0 0 9 0 0 0 9
VT)
159lv2—1, 2—vsO0TFLY 1 0 1 0 1 0 0 1 0 0 0 0 4 0 0 4 0 0 0 4
179(1, 3—vsnn7aRy (B4&D—D) 1 0 1 0 1 of o 1 of o] o 0 0 0 0 0 0 0 0 0
186 ronx4y (RLEIEAFLY) 1 0 1 0 1 0 0 1 0 0 0 0 2 0 0 2 0 0 0 2
B7[KERUZ DAY of o 1 of of of of of of of o 0 0 0 0 0 0 0 0 0
22|12 L Y RUZDILAY 1 0 1 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
23|54 A XS 5 4 5 5 1 0 1 7 4 0 4| 325.44110.0000017 0 0.05 325.491?(70 369 0 369 694. 491?3
22| hSH/OOTFL Y 1 0 1 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
268[7 kS AFLFISLUaLTA R @& | o [ o [ o o [ o o o 0 1 0 0 1 0 0 0 1
FOSLREFS L)
T2 [BRKAEE (SEEAER <, ) 1 0 1 0 1 of o 1 of o] o 0 2 0 0 2 0 0 0 2

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (BER - EXEEVMULX (RIEEEXREEVMLIZ 20, ) )

®1—4 EERFER - EE5
(2 / 2R—%)

e BEERFE (W) () BRI (1) Bt B8 (ko/ 447 414573 dng-TEQ/ ) BRI ko/TES SV
B
g ME £ g | | 2o [ xm | oo | 2w | an | B | X [an| 5 | 98P | ow | mn | an | B0 | THT | an |V
s w | & B

279(1, 1, 1—=rYsOOTov Y 1 0 1 0 1 0 0 1 0 0 0 0 27 0 0 27 0 0 0 27
28011, 1, 2—HNYsOpxT¥d%Yy 1 0 1 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0
B|rysoozFLY 1 0 1 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0
305|581t &Y 1 0 1 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0
3R|MER VT DERLSY 1 0 1 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0
374 3 > b KB RO Z DK A MEE 1 0 1 0 1 0 0 1 0 0 0 0 9 0 0 9 0 0 0
400IRVE Y 1 0 1 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0
40513 > =L 1 0 1 0 1 0 0 1 0 0 0 0 35 0 0 35 0 0 0 35
406| R ERLET =)L (BLZPCB) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A2l VAV RUZDIEEY 1 0 1 0 1 0 0 1 0 0 0 0 4 0 0 4 0 0 0

A5t 33 A S 5] 29 0 NS 4 0 4 0 131 0 0 131 0 0 0 131

PRHFE « TRS0FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (BER - SFHEHRE)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
HEH B
g | T Tk 25
WE I = | axm - - ez @S - =e

= WE L ot | BE | 2k | x5 | 2k | t& | = | a3 k | ait | x5 + 1@y &% ) a%
58lTFLYAES R 1 0 1 1 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0 1
K ESAW, 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 340 0 340 340
127|177 a0RIL A 2 2 2 2 0 0 0 2 2 0 2 7 0 0 0 7 4700 0 4700 4707
32| /L IL—~FH Y 1 1 1 1 0 0 0 1 1 0 1 1 0 0 0 1 2400 0 2400 2401
&t 5 4 5 5 0 0 0 5 4 0 4 8 0 0 0 8 7440 0 7440 7448

PRHFE « TRS0FE




OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEERIDORE (RBER - BARZHRAR)
x®1-4 #HEFER - FEH
(1/1R=%)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
B K& Eﬁ%
T K =K
4] B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
K] D O f S < 3 3 3 3 0 0 0 3 3 0 3| 0.01314 0 0 0| 0.01314] 0.10124 0| o0.10124] 0.11438
55t 3 3 3 3 0 0 0 3 3 0 3 0 0 0 0 0 0 0 0 0

PRHFE « TRS0FE




